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fREET 10,301 10,420 11,673] 22,093
=L} 1478] 1,651 1790] 34411 | ;=5 | 26329 | 27328 | 29905 | 57.233
& FeET 3,126 3,131 3,315 6,446
HA P BT 2110 2116 2240 4356
KEHT 3.407 3,733 4,081 7,814
Jt ¢ T 875 855 941 1,796
AR | 5006 54101 57831 1LI93| | guo | pg303 | p7316 | 20,823 | 57,139
&&t| 26,303 27,316 29,823 57,139
X =F A FH A O
KF K 2 £ 5 KF T &5 = E KF Gkl 5 £ K
AN 1,245 1,317 1,447 2,764| | EH 20 21 24 45 | 26 21 26 47
[ 1,352 1,220 1,418 2,638 | REH 28 20 34 54 3] 0 0 0 0
= H 1,482 1,503 1,681 3,184 = 16 15 14 29 1EH 400 426 500 926
25 1,354 1,419 1,551 2,970 £ 13 10 18 28 AE 663 768 810 1,578
RES 1,129 1,159 1,256 2,415 BB 7 7 5 12 BB 245 265 293 558
INEE 937 869 1,016 1,885 K= 149 221 227 448 =t 83 67 102 169
I 261 248 290 538 E% B 108 123 118 241 ] 108 134 128 262
bk 466 478 537 1,015 KK 413 458 523 981 +RE 122 144 164 308
FEX 389 428 460 888| | IHAIS 70 88 94 182| | HEE 167 178 184 362
fit] 5 241 227 284 511 RNEFT 769 807 893 1,700| | &S 37 41 36 77
o= 1,445 1,552 1,733 3,285 &K 817 908 959 1,867| | FAEE 38 43 48 91
Bl 1,248 1,395 1515 2,910 xE 862 833 903 1,736 5 453 451 454 905
e 230 256 275 531 mE 195 242 301 543 R 313 337 375 712
&R 706 623 728 1,351 &I 24 53 63 116 =53 121 107 130 237
=YH 593 607 615 1,222 AR 240 278 277 555 JI| U5 143 151 141 292
=25 1,827 1,901 1,972 3,873 EH 190 175 226 401 P $3 60 64 66 130
B 44 1,294 1,395 1,449 2,844 KiH 73 60 77 137 IR 1,063 1,169 1,207 2,376
g} 472 411 463 874| | BEA 24 20 20 40 % 990 1,065 1,145 2,210
| i= 235 212 211 423 | B AL 18 12 20 32
NEH 25 25 22 47 ¥ 304 289 295 584




